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Wohnflache Obergeschoss Haus A

Zimmer 1:

WC/Dusche:

Bad Eltern:

Elternzimmer u. Ankleide:
Zimmer 2:

Vorplatz

Total OG:

Balkon:

12.60 m?
6.00 m?
6.12 m?2

19.50 m?

16.70 m?2
4.00 m?

64.92 m?

12.80 m?

—+

Tt

Storen

12 220 33
—L
S /
1.96 1.48| 8
# 8 s
© ©
Vorplatg
BF: 4.00nf
= Ankleidg
a
4 23 1.56] <MeasuredValue> R
2.05 A "N
[) )
=] =)
3 3
Eltern B 3
BF:19.5m? 5 5
FF: 5.52m? @ &
B: Platten g g%
W: Abrieb v Vol
D: Weissputz
c
e
2
(7]
-
Storen
<MeasuredValue>| 1.95

4z

o
]
Storen
Bad/Eltern DU/WC Zimmer 1
BF: 7.75m? BF: 4{27m? BF: 13.22
FF: 0.9m? = FF: 0|6m? FF: 2.25m?
B: Platten = B: Platten R B:Platten -
W: Abrieb & W: Abrieb o W: Abrieb
D: Weissputz D: Weissputz D: Weissputz
R o
152 1260 |88 12f 70 L 2.45 33 2
S T
o
o ] 8
e 1.80 12
o
— Vorplatz S ~ .
< 5 2 I
heeice] S5 =] E g A\ Langsschnitt 1
Al Y - S
o~ ; -
,,,,,,,,,,,,,,,,,,,,,,, = ()
= 2.05 10 {10 88 /| 9 2.45 .
T 2 8
12 5 -
Eltern Zimmer 2
BF:19.5m? BF:13.71m? S
FF: 5.52m? o FF:5.12m> o ~
B: Platten @ B: Platten 3
W: Abrieb « W: Abrieb
D: Weissputz D: Weissputz
7S
© 0
g 9
a4
™,
Balkon
Storen BF: 7.601
©
1.80

Wohnflache Obergeschoss Haus B

Zimmer 1:
Zimmer 2:

Eltern u. Ankleide:
Bad Eltern:
WC/Dusche:
Vorplatz

Total OG:

Balkon:
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